£B) Table calculation

g || Convey distance horizontal = Pump displacement = leec
B Convey distance vertical EE Booster displacement D m3/sec at 2.5 bar
Total conveying length 830 m
Product R - e e
Pipe diameter begin 243 mm
Pressure conveying Fipe diameter end mm
Pressure  pipeline  system Number of Solid Loading  gas velocity  gas velocity  energy residence  sediment
copacity  capacity kettles/hr Raiio begin end consumption  time:
bar tons/hr  tons/hr < Kettle range>  SLR mfsec m/sce KiWh/on seconds
2.9 998 | a2 | s | scapacity 281 | |58 ] [2a ] [243 | (11256 | No
24 | 7 | [m | [as | scapacity @77 | [s8 | [12a ] 238 | 11053 | Mo
23 | 73 | a1 | [ss | >capacity 272 | e | 25 | 231 | (10847 | Mo
22 | [ssa | a0 | [a8 | >capacity 267 | |83 | 125 | 226 | (10638 | Mo
21 | [s44a | [ | [a8 | >capacity 262 | |65 | 12 | 222 | (1426 | Mo
2 | [ozs | |78 | [a7 | >capacity |257 | [6.7 | (126 | [2.17 | 10211 | Mo
e | = | [7 | as | >capacity 51 | |69 ] 26 ] 212 ] 9992 | Mo
s | 82 | 7 | [a8 | >capacity 245 | [71 | 27 | 206 | 927 | Mo
g | sr2 | & | [as | >capacity Er | 27 | 204 | (9545 | Mo
e | [ss | [» | [sa | >capacity 32 | |18 | [128 ] [198 | (9316 | Mo
s | [s27 | [ | a3 | >capacity 25 | [is | 28 | [13s ] (2083 | Mo
a4 | 2 | | (42 | ems 27 | 2 | 23 | [18 | (mas | N
3 | 75 | [e8 | [aa | >capacity 209 | [&s ] 28 ] 186 | 8605 | Mo
2 | (75 | [es | [zs | >capacity |20 | [s | [1z3 | [18s | 836 | Mo
i | M2 | e | [38 | >capacity [19 | [oa | 13 | [182 | 81.09 | Mo
G| &5 | @ | [36 | scwaay s | 8 | m | [m | mm |
[pa | |e3a [ | [3a | >capacity [16.8 | [10.3 | 131 | |18 ] 7592 | Mo
[oa | |sa7 | |53 | [32 | scapacity [154 | [10.9 ] [132 | [1.82 | 7323 | Mo
o7 | [s33 | |9 [EX] | >capacity s | [ms | [m@2 ] 185 | (7046 | Mo
o6 | [467 | 43 | |28 | >capacity 2z | [2z | 133 | [o7 | 67259 | Mo
[os | [ss8 | (36 | 22 | >capacity [10 | [iBa ] [133 | [218 | 646 | Mo
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